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q) -2+(5%-25.5:0.05) :10 + (-10)°-0.01
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O) 2k_2k+1 6) 52n_5n 8) 3n+1_3n-1 Q) 10”_101-”

RaYBYO0 3ndomda: godgmegds @

9. 60bm3 bgmaesbol 2- 0o 0yod  bosbombmm  LbohyMgda, bgmasbobo 11—0-000

35005065005 3MINbom Ml batgqdo, @sbsmhgbn @sn@mas babsMxmeo.
) ®abbals Go 63Bomo sn@mgs Lobstgmoan?
) M339b0 3gmbs bgmasbo, o9 bohndMgddo gosnbos 600 mama?
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a) ab-a® 3) n'2:n™ ) (n3)3:n9 ?) (-a3)2-a2

135




136

S5

“ @ Math Lab 33emg30
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3) 26%'= () ( ) )( )=
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2 5 n .3 3m .3
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5) 310°-7-10° ) 15:1072110°  4) 25:107-4-10"
2)7:10*810"  ©)12:10%710°  3)125-10°-8-10*

bogaMgndmgdo

3. 353m0obgstndgo:
5) 2.4 10" a) 0.4-10°  g) 2.4-10* %) 0.05-10*
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5) 71590000  g) 912900000  g) 190000000
3) 814000 ©) 125100000 ) 51700000000
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) 3%ab 083980 dosbmmgdom 1 392 700 000 398Fns, @gesdnbadbg 109 xg6
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©) 03m390 ©EgEs30bolb ©nsdg@ Mo s AsBgMmgom LG ebs® B ma baboo.
9) 3bg 4 568 domasto bemol B0b Rodmysmods.
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7. ssbomobbgo:
2,4 4,3 24 7 2,2
) @) a) (7 g @)tal %) (@) a
2,3 34 32 4 20 2
5 (%) o) (28%) 5 (0°) b' o) (150a) 5
8. xayxg®o bsdydsm
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1) 7874 2) 5% 5°

)77 370 )7 o 5)5°  3) 5" 4)5 ©)0

5) 27 32" 4)2 ©)2° 5) @ @) an?

) 358m0sbasmndgo : 5% +5"+ 52 = 6) a353mnsbgsmndgom 31 +32+ 33

5) 30 2) 26 a) 31 @25 5)30 3)38 a) 36 ) 37
g3 _ 64

7) 308m006806033m2—4 = 8) 358m0sbas0dgo ¥:

)4 88 3) 16 )32 5) 16 3) 48  a)28 )36

9). 6omImoanbgom doMGngo gmdal batabbal baboo:
o) 423 3) 273*  q) 5%25° )497°  4) 3°:81
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3358 9gd0mo bagsMmgodmgdo:

1. 300356@ 0390 3odmbobamades:

b%) 5a° 2p*
geaf e Sk B &)

2. bomImoanbgo Mazbzo LGObIGE MmO gmEMIoo:
2
5) (5110°%)°  3) 54700000 g) 9:10*14-10°
3. odmohnbgo 396mbbmMBogMgds s RobgMgm dmdwagszbm 3 bgzo, RobgMgom

»oomgqmo bgzo do@Eozo gudal boboo:
0).1; 95 81; .. 3).4;16;64; ...

00x30gM©oom:
4. 05 Mozbgo 830(5@360 ogmb x= ? 0y ) x2=4 d) x3=27 a) x3=-8

5. Gs Go(3b30 Jgodmgds ogmb X=? o9 o) x2=25  3) x3=-125 ) x*=625
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3999%9)
3
5) 5°:25 ©) 81%:9* g) (25%) a* o) 1422212

3) (-2)*8 9) 1007:107 %) (22):4° 3) (44)”.38.28
3
Q) 75492 ) 125251 o) (933 %) (102) 245
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